
Instruction Manual
Brett Sims Switch Grip

1

Required Tools:
 7/32” Hex Key (Allen Wrench)

Part Number Part Description Quantity

CUSTOM Switch Grip (body) 1

CUSTOM Bearing with Bracket 2

91255A632 3/8” x 2” Hex Bolt 4

1133622 3/8” Lock Washer 4

1133008 3/8” Flat Washer 4

Brett Sims Switch Grip
SKU: NWBS-SGxx

Need help? 
Call 1-800-932-3339 or
Email info@gymsupply.com



Instruction Manual
Brett Sims Switch Grip

2

Step 1:
Remove the 3/8” x 2” Hex Bolt, 3/8” Flat Washer, and 
3/8” Lock Washer from each Bearing with Bracket.

Step 2:
Align the first Bearing with Bracket with the pre-drilled 
holes on the Switch Grip Body. Thread the Hex Bolt, 
Lock Washer, and Flat Washer through the bottom of the 
Switch Grip Body into the Bearing with Bracket. 
Tighten securely using a 7/32” Hex Key.

Step 3:
Repeat Steps 1 and 2 to attach the second Bearing with 
Bracket, making sure it faces opposite the first Bearing.

IMPORTANT:
The Switch Grip is easy to adjust for various uses! 
Start by using a 7/32” Hex Key to remove the Hex Bolt, 
Flat Washer, and Lock Washer from the Bearing with 
Bracket. To change the board’s rotation direction, move 
the Bearings to the opposite set of holes. For lefty or 
righty configurations, rotate the board to your desired 
side before reinstalling the Bearings.

Hex Bolt


